[ > restart
| PROBLEMA DE LA CUERDA DE GUITARRA
> Ecuacion := diff (y(x, t), t$2) =c--2-diff (y(x, 1), x$2)

Ecuacion := iz y(x t) =c [% Y (X, t)j @
i ot OX
> c:==1
i ci=1 2
> Ecuacion;
4 P
] ? y(x t) = y y(x 1) 3)
> CondicionesFrontera :=y(0,t) =0,y(1,t) =0

CondicionesFrontera:=y(0,t) =0,y(1,t) =0 4

[0 > (2000 )
> CondicionlnicialTrayectoria :=f:ﬂ isi ( S )
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plot(rhs(CondicionlnicialTrayectoria), x =-0.2..1.2, y =-0.01..0.01)
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=> CondicionlnicialVelocidad := DerYcero =0;
CondicionlnicialVelocidad := DerYcero =0

| >
=METODO DE SEPARACION DE VARIABLES
> Ecuacion
ha ha
S YXt) == y(xt)
ot OX

=> Ecuacionlnicial := eval(subs(y(x, t) =F(x)-G(t), Ecuacion))

d? d’
Ecuacionlinicial := F(x) [—2 G(t)] = (—2 F(x)j G(t)
dt dx
Ihs (Ecuacionlnicial) _ rhs(Ecuacionlnicial)
F(x)-G(t) B F(x)-G(t)
d? d?
— Gt  — F(X)
EcuacionSeparada := at - X
' G(t) F(Xx)

> EcuacionSeparada :=
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=> EcuacionX := rhs(EcuacionSeparada) = alpha; EcuacionT := lhs(EcuacionSeparada) = alpha



-5 F(X)
EcuacionX := NS =o
' F(x)
2
% G(1)
] EcuacionT := W =0 €)]
| >
| para alpha=0
> SolucionXcero := dsolve(subs(alpha=0, EcuacionX) )
SolucionXcero:=F(x) =_Clx+_C2 (10)

=> CondicionesFronteraX := F(0) =0, F(1) =0;

CondicionesFronteraX:=F(0) =0, F(1) = (12)
> SolucioParticularX := dsolve( {subs(alpha=0, EcuaC|onX), Cond|C|onesFronteraX})
i SolucioParticularX := F(x) =0 (12)
| >
| para alpha positivo
> SolucionXpos := dsolve(subs(alpha=beta- -2, EcuacionX) )
i SolucionXpos = F(x) =_CleP*4+ c2e P (13)
> SolucionPositivaX := dsolve( {subs(alpha=beta- -2, EcuacionX), CondicionesFronteraXx } )
i SolucionPositivaX := F(x) =0 (14)
| >
| para alpha negativa
> SolucionXneg := dsolve(subs(alpha=-beta- -2, EcuacionX) )
SolucionXneg := F(x) =_C1sin(px) +_C2 cos(B x) (15)
> SolucionNegativaX := F(x) =sin(n-Pi-x)
i SolucionNegativaX := F(x) =sin(n mx) (16)
[ > SolucionNegativaT := dsolve(subs(alpha=-n--2-Pi--2, EcuacionT) )
SolucionNegativaT := G(t) =_Clsin(nxt) +_C2cos(nmt) 17
> SolucionNegativaGeneral := y(x, t) =rhs(SolucionNegativaX) -rhs(SolucionNegativaT )
SolucionNegativaGeneral := y(x, t) =sin(nztx) (_Clsin(nnt) +_C2cos(nnt)) (18)
[ > SolucionGeneral := y(x, t) :Sum(sin(n*Pi*x) . (bn-cos(n-Pi~t) +a,-sin(n-Pi-t) ) n=1
..infinity)
SolucionGeneral :=y(x, t) = 2 sin(nnx) (b cos(nmt) +a,sin(nmt)) (19)
n=1
[ > SolucionParticularinicial := eval(subs(t =0, SolucionGeneral) )
SolucionParticularlnicial :=y(x,0) = > sin(nmx) b, (20)

n=1

> b, = subs[sin(nPi):O, [ 1

J -int( rhs(CondicionlnicialTrayectoria) -sin ( n-Pi-x )

)




x:O..l)]

(1
sinf = nmn
1 ( 2 )
b= —————* (22)
"2 n2n2
> a,=0
a,:=0 (22)

> SolucionParticular := SolucionGeneral;

sin(nmx) sin( n) cos(nmt)

=
2
: (23)

S|
SolucionParticular := Z o5 5
= n“m
500 1 sin(nmx) (—sin(n ) +23in(% nn)) cos(nmt)
L n=125 2’
> plot(subs(t =0, SolucionParticuIar500), x=0.1,y=0.0.012)
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> with(plots) :
> animate(SolucionParticuIar5OO, x=0.1,t=0.4, frames =150, view=[0..1,-0.02 ..0.02])
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:> restart
> Uno := (x —2) -Heaviside(x — 2); pendiente := 2- (x — 2) -Heaviside(x — 2)
Uno := (x — 2) Heaviside(x — 2)
pendiente :=2 (x — 2) Heaviside(x —2) (24)

=> plot([Uno, pendiente], x=0..5)







